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1. 	 The pilot of an airplane carrying a package of mail to a remote outpost wishes to release the 

package at the right moment to hit the recovery location A as shown in Fig. 1. What angle () 

with the horizontal should the pilot's line of sight to the target make at the instant of release? 

The airplane is flying horizontally at an altitude of 100 m with a velocity of 200 km/h. 
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Fig. 1 

2. 	 Determine the angle () at which the force P in the rope should be applied to position the 

250 kg cylinder directly over the opening shown in Fig. 2. Calculate the corresponding tension 

T in the 3.9 m cable AB. Neglect the mass of the pulley and cable. (250/0) 
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4. Computer the internal forces 

(250/0) 

in bars AB, AC, BC, and BD for the truss in Fig. 4. 
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3. The car A has a forward speed of 18 km/h and is accelerating at 3 m/s2 as shown in Fig. 

3. Determine the velocity and acceleration of the car relative to observer B, who rides in a 

nonrotating chair on the Ferris wheel. The angular rate n =3 rev/min of the Ferris wheel is 
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Fig. 4 


